PREITEREEVN 122BEE TR 5§ 148 B24FEaRGTR AB414+419A

kR G- i MAR L

e 11A278 EH— 114288 I 11H29H RH= 118308 AP 12818 EHIH
A | e | abromm e |wm |evem B |0 | e B |2 |aas we  |wm |ansm B
FEECHNEC BESKER ABB ARk BEKER
SREEZ(QRO)+ AT ZEE#4(QRC)+
HEFEETR(QRC) SHIEE 0.1KG HEE(H)
5 SAS BN =8)FEER)(K20g)<E 17> = $EE (Y R) 1.2KG % =p=a i & FA/I(QRC)<1E 5>
x| Kk [BiEECAS) K> 7 |[Z#EmEQrRo) T T s [2Fx 12k6| m [HEEEA 19(8
%8 M [\ &/m(aRC<EB> 5 |ERP 02k6| 5 |BEFEEERQRY) K
i B BBt 2> ES &
SFTGEER)<ER>
/NEI(QRC)<IEMZ>
#IZEE R (QRO)+ FR/ T (QRO)<Z= fE> BDRE 11
£ |[AmE)NT RO . S |EmERQRO+ " D |amEE RO
gl | K |EKR(CAS)<Z=RE> R f 9K 0.1KG| & |EKHI(CAS)<ERE> f AKE#4(QRC)
R |0 IpsEans & |/NEH(QRO)<IEE> = M | =ehi(cas)1K)<E L8> w [EEA 0.3KG
= B BR<mEE % . % |BmEQro.
SN T)FER B (RR) ()< LHER)<ER>
= | L |EB% LEED 0.3KG s =
Sl E 5 — L = o
R | o |EREHBE T |BTEER) o |LIERER) % |mEAR(ER)
0 AT 25(0.6K) REA 0.3KG = ESES 0.3KG 70 .
_ | B [EFE@)06K 2 | REER(ER)(QRO+<IES> 5 |GEEER)+ @ (e v |[HEEEA
o | & |axE = % [F3(aro) W[ 2>30) Z [%%(100g)
B —pm = % B gm@T RSy T
Z 7z 1z Z
K| g |BEEH<ELZ>(125ml) K |KER
R| M |segh<meezs(125m) R
e bl g R e |Em e |Ew g R g
Ed SRR 49 SRR 45 SRR 4 SRR 5.1 SRR 54
& TRENE 1 T AENE 22 T AENE 1.4 TAEAE 2.1 TRENE 2
g SHESHE 3 SHESHE 32 SRS 33 SIS 3 SHESHE 3
N B 13 e L5 B 12 B 12 B 1
e EE 1 KER KR 1 A28 KER
TN 667 BB (KT 662 B (k) 624 BB (k) 680 B (k) 688




